Advanced Algebra (H) Date
Quadratics 2.1 Writing equations of Transformations of Quadratic Functions

Question: Is the order (}5 he transformations important?

)
Example 1: The functionj:x undergoes a vertical stretch by a factor of 2, then a reflection across the x-
axis, and then a translation 3 units down. Write a rule for g, the new function, and identify the vertex.
Check with your calculator.
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Example 2: The functlon@= = x? is translated 3 units down, then reflected across the x-axis, followed by a
vertical stretch by a factor of 2. Write a rule for g, the new function, and identify the vertex. Check with
your calculator.
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d E)iample 3:Let the graph of g be a translation 3 units right and 2 units up, followed by a reflection in the y-

axis of the graph of f(x) = x% — 5x. Write a rule for g.

/7 v o/ \ ‘

’ “gam sléﬁ <+
: F

L1




H
i
N

s
v

Z




PRACTICE:

Let the graph of g by a vertical shrink by a factor of % followed by a translation 2 units up of the
. Write a rule for g and ldentlfy the vertex «
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2. Carry out problem #1 but reverse the order of transformations. Write a rule for g and identify the
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Let the graph of g be a translation 4 units left followed by a vertical shrink by a factor of 1/3 of the
T, A

3.
graph of f(x) = x2 + x. Write a rule for g and identify the vertex . .
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4. Write a function g based on the transformations of f(x) = 2x? + 6x a tran§l/at:on 6 units down
followed by a reflectlon in the x-axis. Write a rule for g and identify the vertex.
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5.  Write a function g based on the transformations of f(x) = 2x% + 6x a reflectlon in the y axis
followed by a translation 4 units right. ;’/"“’M I o
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